

Local Public Agency Formal Contract

Contractor's Name					
Berger Contractors, Inc.					Samo Strong et eleganos
Contractor's Address	City			State	Zip Code
1205 Garland Road	Waucond	la		IL	60084
STATE OF ILLINOIS				Section N	lumber
Local Public Agency		County		Section	dumber
Village of Buffalo Grove		Cook			
Street Name/Road Name			Type of Fur	nds	
Bernard Drive			Local		
CONTRACT BOND (when required)					
For a County and Road District Project Submitted/Approved Highway Commissioner Signature & Date Submitted/Approved County Engineer/Superintendent of HighwaysSignature & Date	Signatu	Subm ure & Date	or a Municipal	-	
		ncurrence in ap	rtment of Tran oproval of aware gnature & Date	d	on

Local Public Agency	Local Street/Road Name		County	Section Number
Village of Buffalo Grove	Bernard Drive		Cook	
THIS AGREEMENT, made and concluded the			en the Village	
of Buffalo Grove	Day Minown as the party of the fi	onth and Year rst part, and Rerger C		Public Agency Type
Local Public Agency		rot part, and borgor c	Contracto	
its successor, and assigns, known as the part	•			
For and in consideration of the payments and the party of the first part, and according to the with said party of the first part, at its own prop complete the work in accordance with the pla this contract.	e terms expressed in the B per cost and expense, to do ns and specifications here	ond referring this control all the work, furnish a inafter described, and	act, the party of th ill materials and all in full compliance v	e second part agrees labor necessary to with all of the terms of
3. It is also understood and agreed that the LPA				usiness Office,
Apprenticeship or Training Program Certificat	ion, and Contract Bond he	reto attached, and the	Plans for Section	Section Number
	approved by the Illinois De	partment of Transport		are essential
Local Public Agency documents of this contract and are a part her	eof.		Date	3
4. IN WITNESS WHEREOF, the said parties ha	ve executed this contract o	on the date above men	tioned.	
Attest:	The Village	of Buffalo		
	Local Public Agency		Name of Local P	ublic Agency
Clerk Signature & Date		Party of the First Part	Signature & Date	
Sant M. Brobian	Ву:	On M	r	12/04/2013
(SEAL, if required by the LPA)		- 00	(If a Corporation)	
		Corporate Name		
		Berger Contractor	s, Inc.	
		President, Party of the	Second Part Sign	nature & Date
	By:	39/	5	
(SEAL, if required by the LPA)		•	nited Liability Corp	oration)
		LLC Name		
		NA	d Mambar Darby	of the Cosend Dort
	By:	Manager or Authorize	d Member, Party C	i the Second Part
		Partner Signature & D	(If a Partnership) Date	
Attest:				
Secretary Signature & Date		Partner Signature & [Date	
J4- 12/04/202	3			
(SEAL, if required by the LPA)		Partners doing Party of the Second F	Business under the	ne firm name of
(,oquoc b) a.e - , ,,				
		Party of the Second P	(If an individual) art Signature & Da	ite



Local Public Agency Formal Contract Proposal

		4 4 5 5 5	and the control of the analysis of the first	
			200	
	L mail	1 1 1 1 1	Docot Lorm	
	E-mail		Reset Form	

COVER SHEET

Proposal Submitted By:					
Contractor's Name	1				
Berger Contractors, Inc.					
Contractor's Address	City			State	Zip Code
1205 Garland Rd	Wa	olonda		FL	60084
STATE OF ILLINOIS					
Local Public Agency		County	S	ection Nu	ımber
Village of Buffalo Grove		Cook			
Route(s) (Street/Road Name)			Type of Fund	is	
Bernard Drive			General (L	.ocal)	
☐ Proposal Only Proposal and Plans ☐ Proposal only, plans	are separa	te			
Submitted/Approved For Local Public Agency:					
For a County and Road District Project		For a	Municipal Pro	ject	
Submitted/Approved		Submitte	ed/Approved/P	assed	
Highway Commissioner Signature & Date	Signatur	e & Date			
	Official 7	Title.			
Submitted/Approved	Official	ilue		***************************************	
County Engineer/Superintendent of Highways Signature & Date	L				
County Engineering					
		Departm	ent of Transp	ortation	
		Released for	bid based on li	imited rev	iew
	Regiona	l Engineer Signa			

Note: All proposal documents, including Proposal Guaranty Checks or Proposal Bid Bonds, should be stapled together to prevent loss when bids are processed.

Local Public Agency	County	Section Number	Route(s) (Str	eet/Road Name)			
Village of Buffalo Grove	Cook		Bernard D	rive			
NOTICE TO BIDDERS							
Sealed proposals for the project describe	d below will be receive	ed at the office of www.vbg					
			Name of Ot until 9:30 AM	fice on 11/16/23			
	Address		Time	Date			
Sealed proposals will be opened and read	d publicly at the office	of <u>during a live, online n</u>	neeting hosted by	the Village.			
Microsoft Teams video conference	Name of Office at 9:30 AM	on 11/16/23					
	Address		Time	Date			
DESCRIPTION OF WORK Location Project Length							
Bernard Drive		The state of the s	***************************************	3015 feet			
Proposed Improvement				1			
Earth excavation, pavement removal, construction of storm sewers and sanitary sewer, aggregate subbase, HMA roadway pavement, combination concrete curb and gutter, PCC sidewalk and multi-use path, ADA ramps with detectable warnings, driveway removal and replacement, drainage and utility structure adjustments, traffic signal detector loop removal and replacement, tree removal, landscaping, erosion control, and thermoplastic pavement markings.							
 Plans and proposal forms will be availa 	ble in the office of						
www.vbg.org/bids Office of the Purchasing Manager	- (847) 459-2500						

2. Prequalification

If checked, the 2 apparent as read low bidders must file within 24 hours after the letting an "Affidavit of Availability" (Form BC 57) in triplicate, showing all uncompleted contracts awarded to them and all low bids pending award for Federal, State, County, Municipal and private work. One original shall be filed with the Awarding Authority and two originals with the IDOT District Office.

- 3. The Awarding Authority reserves the right to waive technicalities and to reject any or all proposals as provided in BLRS Special Provision for Bidding Requirements and Conditions for Contract Proposals.
- 4. The following BLR Forms shall be returned by the bidder to the Awarding Authority:
 - a. Local Public Agency Formal Contract Proposal (BLR 12200)
 - b. Schedule of Prices (BLR 12201)
 - c. Proposal Bid Bond (BLR 12230) (if applicable)
 - d. Apprenticeship or Training Program Certification (BLR 12325) (do not use for project with Federal funds.)
 - e. Affidavit of Illinois Business Office (BLR 12326) (do not use for project with Federal funds)
- 5. The quantities appearing in the bid schedule are approximate and are prepared for the comparison of bids. Payment to the Contractor will be made only for the actual quantities of work performed and accepted or materials furnished according to the contract. The scheduled quantities of work to be done and materials to be furnished may be increased, decreased or omitted as hereinafter provided.
- 6. Submission of a bid shall be conclusive assurance and warranty the bidder has examined the plans and understands all requirements for the performance of work. The bidder will be responsible for all errors in the proposal resulting from failure or neglect to conduct an in depth examination. The Awarding Authority will, in no case, be responsible for any costs, expenses, losses or changes in anticipated profits resulting from such failure or neglect of the bidder.
- 7. The bidder shall take no advantage of any error or omission in the proposal and advertised contract.
- 8. If a special envelope is supplied by the Awarding Authority, each proposal should be submitted in that envelope furnished by the Awarding Agency and the blank spaces on the envelope shall be filled in correctly to clearly indicate its contents. When an envelope other than the special one furnished by the Awarding Authority is used, it shall be marked to clearly indicate its contents. When sent by mail, the sealed proposal shall be addressed to the Awarding Authority at the address and in care of the official in whose office the bids are to be received. All proposals shall be filed prior to the time and at the place specified in the Notice to Bidders. Proposals received after the time specified will be returned to the bidder unopened.
- 9. Permission will be given to a bidder to withdraw a proposal if the bidder makes the request in writing or in person before the time for

opening proposals.

L	Local Public Agency	County	Section Number	Route(s) (Street/Road Name)
٧	Village of Buffalo Grove	Cook		Bernard Drive
		PROF	POSAL	
1.	. Proposal of	Berger Lo	ntrafors Inc.	
		1205 Garlas	Contractor's Name nd Rd Why cond q	1 -
		Contractor	's Address	IL 600BY
2.	. The plans for the proposed work are tho	ose prepared by Christon	oher B. Burke Engineerir	na. Ltd.
	and approved by the Department of Tra		<u> </u>	
3. Sp ad	. The specifications referred to herein are specifications for Road and Bridge Constru- dopted and in effect on the date of invitation	ction" and the " Suppleme	Department of Transportation a ental Specifications and Recur	and designated as "Standard rring Special Provisions" thereto,
4. Re	. The undersigned agrees to accept, as plecurring Special Provisions" contained in t	part of the contract, the ap	pplicable Special Provisions in	dicated on the "Check Sheet for
5.	. The undersigned agrees to complete th	e work within	working days or by $\frac{08/3}{}$	0/24 unless additional time
	is granted in accordance with the s	pecifications.		
6.	the award. When a contract bond is	s not required, the propos to execute a contract and	al guaranty check will be held	sit a contract bond for the full amount of lin lieu thereof. If this proposal is is hereby agreed that the Bid Bond of
	 Each pay item should have a unit p products of the unit price multiplied by the by the quantity in order to establish a unit. The undersigned submits herewith. The undersigned further agrees that work shall be in accordance with the recommendation. 	he quantity, the unit price nit price. A bid may be ded the schedule of prices on at if awarded the contract t	shall govern. If a unit price is clared unacceptable if neither BLR 12201 covering the worl for the sections contained in the	comitted, the total price will be divided a unit price nor a total price is shown. It to be performed under this contract. The combinations on BLR 12201, the
	Bids below. 10. A proposal guaranty in the proper a Contract Proposals, will be required Bonds a bid bond, if allowed, on Department payable	amount, as specified in Bl d. Bid Will be a ent form BLR 12230 or a p	LRS Special Provision for Bido allowed as a proposal guarant proposal guaranty check, com	ding Requirements and Conditions for
	to:	(a · A	er of Buffalo Grove	
	The amount of the check is	OV Sid Himb		
	In the event that one proposal guarantie to the sum of the proposal guarantie check is placed in another bid propo	es which would be require	ed for each individual bid prop	als, the amount must be equal osal. If the proposal guaranty
	The proposal guaranty check will be for:	e found in the bid proposa	Section Number	·

SCHEDULE OF PRICES

Base Bid Scope of Work:

For the complete scope of work and information covering these items, see the plans and specifications.

BERNARD DRIVE RECONSTRUCTION

The following Unit Prices will be used for basis of payment and shall be the bidder's proposal for completing the entire improvements herein.

BASE BID

ITEM NO.	<u>Item</u>	Quantity	<u>Unit</u>	<u>Unit</u> <u>Price</u>	Total Price
1	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	86	UNIT	17.85	1,535.10
2	TREE REMOVAL (OVER 15 UNITS DIAMETER)	810	UNIT	17.85	14,458.50
3	TREE ROOT PRUNING	5	EACH	100.00	500.00
4	EARTH EXCAVATION	2325	CU YD	48.00	111,600.00
5	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	705	CU YD	1.75	1,233.75
6	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	13300	SQ YD	2.00	26,600.00
7	INLET FILTERS	45	EACH	250.00	11,250.00
8	AGGREGATE SUBGRADE IMPROVEMENT	200	CU YD	120.00	24,000.00
9	SUBBASE GRANULAR MATERIAL, TYPE B 4"	6310	SQ YD	10.50	66,255.00
10	AGGREGATE BASE COURSE, TYPE B 9"	12000	SQ YD	15.25	183,000.00
11	BITUMINOUS MATERIALS (PRIME COAT)	27000	POUND	0.01	270.00
12	BITUMINOUS MATERIALS (TACK COAT)	2594	POUND	0.01	25.94
13	LONGITUDINAL JOINT SEALANT	3015	FOOT	4.00	12,060.000
14	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 6 INCH	615	SQ YD	78.00	47,970.00
15	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	35540	SQ FT	8.00	284,320.00
16	PAVEMENT REMOVAL	12787	SQ YD	7.75	99,099.25
17	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	158	SQ YD	35.00	5,530.00
18	DRIVEWAY PAVEMENT REMOVAL	659	SQ YD	9.00	5,931.00
19	COMBINATION CURB AND GUTTER REMOVAL	6230	FOOT	4.00	24,920.00
20	SIDEWALK REMOVAL	23470	SQ FT	1.00	23,470.00
21	STORM SEWERS, CLASS A, TYPE 1 12"	551	FOOT	90.00	49,590.00
22	STORM SEWERS, CLASS A, TYPE 2 15"	154	FOOT	86.00	13,244.00
23	STORM SEWERS, CLASS A, TYPE 2 18"	240	FOOT	91.00	21,840.00
24	STORM SEWERS, CLASS A, TYPE 2 24"	788	FOOT	119.00	93,772.00
25	STORM SEWERS, CLASS A, TYPE 2 30"	127	FOOT	140.00	17,780.00

ITEM NO.	<u>Item</u>	Quantity	<u>Unit</u>	<u>Unit</u> <u>Price</u>	Total Price
26	STORM SEWERS, CLASS A, TYPE 2 36"	929	FOOT	169.00	157,001.00
27	STORM SEWERS, CLASS A, TYPE 2 48"	212	FOOT	244.00	51,728.00
28	ADJUSTING WATER SERVICE LINES	750	FOOT	80.00	60,000.00
29	DOMESTIC WATER SERVICE BOXES TO BE ADJUSTED	61	EACH	500.00	30,500.00
30	PIPE UNDERDRAINS 4" (SPECIAL)	1100	FOOT	43.00	47,300.00
31	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, OPEN LID	2	EACH	4,025.00	8,050.00
32	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 11 FRAME AND GRATE	39	EACH	4,000.00	156,000.00
33	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	7	EACH	5,000.00	35,000.00
34	MANHOLES, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID	12	EACH	7,800.00	93,600.00
35	MANHOLES, TYPE A, 6'-DIAMETER, TYPE 1 FRAME, CLOSED LID	8	EACH	13,450.00	107,600.00
36	MANHOLES, TYPE A, 7'-DIAMETER, TYPE 1 FRAME, CLOSED LID	1	EACH	18,150.00	18,150.00
37	MANHOLES, TYPE A, 8'-DIAMETER, TYPE 1 FRAME, CLOSED LID	1	EACH	21,200.00	21,200.00
38	INLETS, TYPE A, TYPE 1 FRAME, OPEN LID	1	EACH	1,750.00	1,750.00
39	INLETS, TYPE A, TYPE 11 FRAME AND GRATE	3	EACH	1,900.00	5,700.00
40	CATCH BASINS TO BE ADJUSTED	2	EACH	1,065.00	2,130.00
41	CATCH BASINS TO BE RECONSTRUCTED WITH NEW TYPE 1 FRAME, CLOSED LID	1	EACH	1,525.00	1,525.00
42	MANHOLES TO BE ADJUSTED	2	EACH	1,000.00	2,000.00
43	INLETS TO BE ADJUSTED WITH NEW TYPE 11 FRAME AND GRATE	1	EACH	1,650.00	1,650.00
44	REMOVING MANHOLES	2	EACH	650.00	1,300.00
45	REMOVING CATCH BASINS	3	EACH	650.00	1,950.00
46	REMOVING INLETS	1	EACH	325.00	325.00
47	CONCRETE CURB, TYPE B	200	FOOT	36.00	7,200.00
48	MOBILIZATION	1	L SUM	218,000.00	218,000.00
49	CHANGEABLE MESSAGE SIGN	70	CAL DA	40.00	2,800.00
50	SIGN PANEL - TYPE 1	131	SQ FT	24.00	3,144.00
51	REMOVE SIGN PANEL ASSEMBLY - TYPE A	3	EACH	75.00	225.00
52	RELOCATE SIGN PANEL ASSEMBLY - TYPE A	3	EACH	125.00	375.00
53	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	25	FOOT	1.00	25.00
54	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	900	FOOT	2.75	2,475.00
55	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	1100	FOOT	3.00	3,300.00
56	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	110	FOOT	7.00	770.00
57	GROOVING FOR RECESSED PAVEMENT MARKING 5"	25	FOOT	0.75	18.75
58	GROOVING FOR RECESSED PAVEMENT MARKING	900	FOOT	1.75	1,575.00

ITEM NO.	<u>Item</u>	Quantity	Unit	<u>Unit</u> <u>Price</u>	Total Price
	7"				
59	GROOVING FOR RECESSED PAVEMENT MARKING 13"	1100	FOOT	2.00	2,200.00
60	GROOVING FOR RECESSED PAVEMENT MARKING 25"	110	FOOT	5.00	550.00
61	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	1	EACH	19,250.00	19,250.00
62	ELECTRIC CABLE IN CONDUIT, LEAD-IN, NO. 14 1 PAIR	346	FOOT	4.00	1,384.00
63	DETECTOR LOOP, TYPE I	78	FOOT	57.00	4,446.00
64	REMOVE ELECTRIC CABLE FROM CONDUIT	346	FOOT	2.50	865.00
65	PROPOSED STORM SEWER CONNECTION TO EXISTING MANHOLE	1	EACH	10,250.00	10,250.00
66	STORM SEWER TO BE FILLED	9	CU YD	600.00	5,400.00
67	WATER MAIN SUPPORT	4	EACH	2,700.00	10,800.00
68	TRENCH BACKFILL (SPECIAL)	4638	CU YD	65.00	301,470.00
69	EXPLORATION TRENCH (SPECIAL)	150	FOOT	15.00	2,250.00
70	TEMPORARY ACCESS (PRIVATE ENTRANCE)	51	EACH	500.00	25,500.00
71	TEMPORARY ACCESS (ROAD)	14	EACH	875.00	12,250.00
72	TEMPORARY RAMP (SPECIAL)	375	SQ YD	39.00	14,625.00
73	DETECTABLE WARNINGS (SPECIAL)	500	SQ FT	77.00	38,500.00
74	CLASS D PATCHES, TYPE IV, 5 INCH (SPECIAL)	419	SQ YD	60.00	25,140.00
75	MANHOLES, SANITARY, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID	2	EACH	13,500.00	27,000.00
76	SANITARY MANHOLES TO BE ADJUSTED	15	EACH	625.00	9,375.00
77	FRAMES AND LIDS TO BE ADJUSTED (SPECIAL)	22	EACH	1,115.00	24,530.00
78	COMBINATION CONCRETE CURB AND GUTTER, TYPE B (SPECIAL)	6098	FOOT	28.00	170,744.00
79	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1	L SUM	93,400.00	93,400.00
80	SUMP PUMP LINE CONNECTION	4	EACH	1,550.00	6,200.00
81	TRAFFIC CONTROL AND PROTECTION (DETOUR)	1	L SUM	5,000.00	5,000.00
82	CONCRETE TRUCK WASHOUT	1	L SUM	1,500.00	1,500.00
83	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 3"	51	SQ YD	60.00	3,060.00
84	CONSTRUCTION LAYOUT	1	L SUM	30,000.00	30,000.00
85	STORM SEWER (WATER MAIN REQUIREMENTS) 12 INCH	522	FOOT	112.00	58,464.00
86	STORM SEWER (WATER MAIN REQUIREMENTS) 15 INCH	38	FOOT	139.00	5,282.00
87	STORM SEWER (WATER MAIN REQUIREMENTS) 24 INCH	237	FOOT	255.00	60,435.00
88	STORM SEWER (WATER MAIN REQUIREMENTS) 36 INCH	135	FOOT	270.00	36,450.00
89	SANITARY SEWER 12"	211	FOOT	142.00	29,962.00

ITEM NO.	<u>Item</u>	Quantity	<u>Unit</u>	<u>Unit</u> <u>Price</u>	Total Price
90	CLASS D PATCHES, 4 INCH (SPECIAL)	400	SQ YD	75.00	30,000.00
91	DETECTABLE WARNINGS (FURNISHED BY OTHERS)	150	SQ FT	12.25	1,837.50
92	GENERAL LANDSCAPE RESTORATION (SPECIAL)	4300	SQ YD	11.35	48,805.00
93	HOT-MIX ASPHALT BINDER COURSE, (SPECIAL)	1612	TON	92.75	149,513.00
94	HOT-MIX ASPHALT SURFACE COURSE, (SPECIAL)	1290	TON	102.25	131,902.50
95	MOWING	5	EACH	500.00	2,500.00
96	TEMPORARY EROSION CONTROL SEEDING (SPECIAL)	4300	SQ YD	1.00	4,300.00
97	TEMPORARY MULCH CONTROL 3A (SPECIAL)	4300	SQ YD	1.00	4,300.00

TOTAL BASE BID PRICE IN NUMBERS: \$ 3,594,061.29							
TOTAL BASE BID PRICE WRITTEN:	THREE MILLION FIVE HUNDRED NINETY FOUR THOUSAND SIXTY ONE DOLLARS AND TWENTY NINE CENTS						

Base Bid Scope of Work:

For the complete scope of work and information covering these items, see the plans and specifications.

BERNARD DRIVE RECONSTRUCTION

The following Unit Prices will be used for basis of payment and shall be the bidder's proposal for completing the entire improvements herein.

ALTERNATE 01

ITEM NO.	<u>Item</u>	Quantity	<u>Unit</u>	<u>Unit</u> <u>Price</u>	Total Price
1	TREE, CELTIS OCCIDENTALIS CHICAGOLAND, (CHICAGOLAND COMMON HACKBERRY), 2" CALIPER, BALLED AND BURLAPPED	3	EACH	500.00	1,500.00
2	TREE, GINKGO BILOBA AUTUMN GOLD (AUTUMN GOLD GINKGO), 2" CALIPER, BALLED AND BURLAPPED	6	EACH	500.00	3,000.00
3	TREE, GYMNOCLADUS DIOICUS (KENTUCKY COFFEETREE), 2" CALIPER, BALLED AND BURLAPPED	2	EACH	500.00	1,000.00
4	TREE, LIQUIDAMBAR STYRACIFLUA MORAINE (MORAINE SWEETGUM), 2" CALIPER, BALLED AND BURLAPPED	7	EACH	500.00	3,500.00
5	TREE, QUERCUS BICOLOR (SWAMP WHITE OAK), 2" CALIPER, BALLED AND BURLAPPED	1	EACH	500.00	500.00
6	TREE, TAXODIUM DISTICHUM (COMMON BALD CYPRESS), 2" CALIPER, BALLED AND BURLAPPED	1	EACH	500.00	500.00
7	TREE, TILIA AMERICANA REDMOND (REDMOND AMERICAN LINDEN), 2" CALIPER, BALLED AND BURLAPPED	2	EACH	500.00	1,000.00
8	TREE, CLADRASTIS KENTUCKEA (AMERICAN YELLOWWOOD), 2" CALIPER, BALLED AND BURLAPPED	4	EACH	500.00	2,000.00

TOTAL ALTERNATE 01 BID PRICE IN NUMBERS: \$ 13,000.00

TOTAL ALTERNATE 01 BID PRICE WRITTEN: \$ THIRTEEN THOUSAND DOLLARS AND ZERO CENTS

Local Public Agency	County	Section Number	Route(s) (Street/Road Name)
Village of Buffalo Grove	Cook		Bernard Drive

CONTRACTOR CERTIFICATIONS

The certifications hereinafter made by the bidder are each a material representation of fact upon which reliance is placed should the Department enter into the contract with the bidder.

- 1. **Debt Delinquency.** The bidder or contractor or subcontractor, respectively, certifies that it is not delinquent in the payment of any tax administered by the Department of Revenue unless the individual or other entity is contesting, in accordance with the procedure established by the appropriate Revenue Act, its liability for the tax or the amount of the tax. Making a false statement voids the contract and allows the Department to recover all amounts paid to the individual or entity under the contract in a civil action.
- 2. **Bid-Rigging or Bid Rotating**. The bidder or contractor or subcontractor, respectively, certifies that it is not barred from contracting with the Department by reason of a violation of either 720 ILCS 5/33E-3 or 720 ILCS 5/33E-4.

A violation of section 33E-3 would be represented by a conviction of the crime of bid-rigging which, in addition to Class 3 felony sentencing, provides that any person convicted of this offense, or any similar offense of any state or the United States which contains the same elements as this offense shall be barred for 5 years from the date of conviction from contracting with any unit of State or local government. No corporation shall be barred from contracting with any unit of State or local government as a result of a conviction under this Section of any employee or agent of such corporation if the employee so convicted is no longer employed by the corporation: (1) it has been finally adjudicated not guilty or (2) if it demonstrates to the governmental entity with which it seeks to contract that entity finds that the commission of the offense was neither authorized, requested, commanded, nor performed by a director, officer or a high managerial agent on behalf of the corporation.

A violation of Section 33E-4 would be represented by a conviction of the crime of bid-rotating which, in addition to Class 2 felony sentencing, provides that any person convicted of this offense or any similar offense of any state or the United States which contains the same elements as this offense shall be permanently barred from contracting with any unit of State of Local government. No corporation shall be barred from contracting with any unit of State or Local government as a result of a conviction under this Section of any employee or agent of such corporation if the employee so convicted is no longer employed by the corporation and: (1) it has been finally adjudicated not guilty or (2) if it demonstrates to the governmental entity with which it seeks to contract and that entity finds that the commission of the offense was neither authorized, requested, commanded, nor performed by a director, officer or a high managerial agent on behalf of the corporation.

- 3. **Bribery.** The bidder or contractor or subcontractor, respectively, certifies that, it has not been convicted of bribery or attempting to bribe an officer or employee of the State of Illinois or any unit of local government, nor has the firm made an admission of guilt of such conduct which is a matter or record, nor has an official, agent, or employee of the firm committed bribery or attempted bribery on behalf of the firm and pursuant to the direction or authorization of a responsible official of the firm.
- 4. Interim Suspension or Suspension. The bidder or contractor or subcontractor, respectively, certifies that it is not currently under a suspension as defined in Subpart I of Title 44 Subtitle A Chapter III Part 6 of the Illinois Administrative code. Furthermore, if suspended prior to completion of this work, the contract or contracts executed for the completion of this work may be canceled.

Local Public Agency	County	Section Number	Route(s) (Stree	t/Road Name)
Village of Buffalo Grove	Cook		Bernard Driv	e
	SIGNA	ATURES		
(If an individual)	В	dder Signature & Date		
	Bi	usiness Address ty	State	Zip Code
(If a partnership)	Fi	rm Name		
	Si	gnature & Date		
	L Tit	le		
		siness Address		
Insert the Names and Addresses of all Pa	Ci	у	State	Zip Code
insert the Names and Addresses of all Pa	riners			
(If a corporation)	Co Sig	rporate Name Bevger Contrae Inature & Date	ron, Inc	
(If a corporation)	Are Titl Bu Cit			
SEA	L RS Bu	The sident siness Address 1205 Garland 1	7 (
SEA SEA	jis Cit		Pd State エレ	Zip Code
Insert N	ames of Officers Pre	sident Sit (Lumberti	Λ	
Attest:	Sec	cretary Wil (hamberlin	L	

Secretary	CORPORATE SEAL SEAL NOIS
	CORPORATE CO
	SEAL RE
	SEAL SEAL SHIP
	WILLIAM 12

Treasurer

The Chamberlin



Local Public Agency Proposal Bid Bond

Local Public Agency		c	County	Section Number
Village of Buffalo Grove			Cook	N/A
WE, Berger Contractors, Inc.	······································			as PRINCIPAL, and
Western Surety Company			**************************************	as SURETY, are held jointly,
severally and firmly bound unto the above Local Public Agrice, or for the amount specified in the proposal documed bind ourselves, our heirs, executors, administrators, succeinstrument. WHEREAS THE CONDITION OF THE FOREGO proposal to the LPA acting through its awarding authority THEREFORE if the proposal is accepted and a cand the PRINCIPAL shall within fifteen (15) days after awarding authority than the proposal is accepted and a cand the PRINCIPAL shall within fifteen (15) days after awarding and the proposal is accepted and a candidate the proposal is accepted	nts in effect on its sources. DING OBLIGAT for the construction that it is not to be constructed to the construction that is not to be constructed to the construction that is not to be constructed to the construction to the construction that is not to be constructed to the construction that is	the date of signs, jointly TON IS SU tion of the	invitation for bid y pay to the LPA CH that, the said work designated RINCIPAL by the	e penal sum ofio% of the total bid s, whichever is the lesser sum. We this sum under the conditions of this I PRINCIPAL is submitting a written as the above section.
performance of the work, and furnish evidence of the requ and Bridge Construction" and applicable Supplemental Sp full force and effect. IN THE EVENT the LPA determines the PRINCIF requirements set forth in the preceding paragraph, then th recover the full penal sum set out above, together with all IN TESTIMONY WHEREOF, the said PRIN	ored insurance of the conficultions, the conficultions, the conficultion of the court costs, all account costs, all accounts costs.	coverage, and this oblique of the content of the co	all as provided in gation shall becon a formal contra warding authorities, and any othe	the "Standard Specifications for Road me void; otherwise it shall remain in ct in compliance with any y shall immediately be entitled to r expense of recovery.
respective officers this 15th November		3010 3011	. F F Have Cause	i this manufaction be signed by their
Company Name			ny Name	
Berger Contractors, Ingrees,		٨	JA	
Signature & Date = &		Signatu	re & Date	
Title SEAL STATE OF SEAL STATE	V 33 B:	y: Title		
(If Principal is a joint venture of two or more contractors, the	e company nam	nes, and au	uthorized signatu	res of each contractor must be
amxed.)	Surety			
Name of Surety	SURET	Signatu	re of Attorney-in-	Fact Signature & Date
Western Surety Company	SEAL T	1: 20	-Mlee	/
STATE OF IL	TH DAKO	Jan	nes I. Moore	11/15/2023
COUNTY OF DuPage	· respira			
Lisa Marotta		ry Public ir	and for said co	unty do hereby certify that
Tille Churberlin and James I. A (Insert names of Individual)	Moore	acif of DDIN	CIDAL & CUDETY	
who are each personally known to me to be the same personally known to me to be the same personally known to me to be the same person PRINCIPAL and SURETY, appeared before me this day in instruments as their free and voluntary act for the uses and	ons whose nam person and ack	es are sub	scribed to the fo I respectively, th	regoing instrument on hehalf of
Given under my hand and notarial seal this 15th	day ofN	ovember Month and	, 2023 .	
Day		MONIN AND	Notary Public S	innature & Date
			Thotally 1 dolle 3	grature & Date
(SEAL, if required by the LPA)			Dis 1/1	and 11/15/2023
L Notary pui	PFFICIAL SEAL ISA MAROTTA BLIC, STATE OF ILL Expires February	INOIS 7, 2026	Date commis	sion expires <u>2/7/2026</u>



Affidavit of Illinois Business Office

	E-m	ail Reset Form	
Local Public Agency	County	Street Name/Road Name	Section Number
Village of Buffalo Grove	Cook	Bernard Drive	
I, <u>Julie Mamber</u> Name of Affiant being first duly sworn upon oath, state as follows	of	(Javicove 4 City of Affiant	State of Affiant
1. That I am the President Officer or Position	of _	Berger Contractors, Inc.	
2. That I have personal knowledge of the facts h	erein stated.		
3. That, if selected under the proposal described	above,		maintain a business office in the
State of Illinois, which will be located in	County	County, Bidder Illinois.	
 That this business office will serve as the primiting proposal. 	•	oyment for any persons employed in the	construction contemplated by
<u> </u>	SEAI	Signature & Date Print Name of Affiant	11/16/23
Notary Public	77711111		
State of IL			
County (all	5.		
Signed (or subscribed or attested) before me on	(ddte) Chambey 1: ne/s of person/s)	by	_ , authorized agent(s) of
DIA NOTARY P MY COMM	OFFICIAL SEAL NE C SEROWKA UBLIC - STATE OF ILL MISSION EXPIRES:04/	Notary Public Signatu	Serawka "116/23



Apprenticeship or Training Program Certification

	Return with Bid	Route County Local Agency Section	Cook Village of Buffalo Grove
All d	contractors are required to complete ti	ne following certificat	ion:
■ F	or this contract proposal or for all groups in th	is deliver and install prop	osal.
□ F	or the following deliver and install groups in th	nis material proposal:	
requi appro requi (1) a ₁ (2) a ₁	pproved by and registered with the United Sta pplicable to the work of the above indicated p ving certification: Except as provided in paragraph IV below	responsive and responsible responsible responsibility factors, the to disclose participation ates Department of Labor roposals or groups. Therefore, the undersigned bidder an approved apprentice	ole bidder. The award decision is subject to his contract or deliver and install proposal in apprenticeship or training programs that are is Bureau of Apprenticeship and Training, and refore, all bidders are required to complete the certifies that it is a participant, either as an ship or training program applicable to each
II.	The undersigned bidder further certifies fo submitted for approval either (A) is, at the	r work to be performed by time of such bid, participa nmencement of performa	y subcontract that each of its subcontractors ating in an approved, applicable apprenticeship nce of work pursuant to this contract, establish
III.	The undersigned bidder, by inclusion in the sponsor holding the Certificate of Registra participant and that will be performed with subcontracted shall be included and listed craft job category for which there is no app	tion for all of the types of the bidder's employees. as subcontract work. Th	work or crafts in which the bidder is a Types of work or craft that will be e list shall also indicate any type of work or
	OPERATING ENGINEERS LOCAL 150		
	CONSTRUCTION AND GENERAL LABORERS DISTRICT	COUNCIL OF CHICAGO AND VIC	CINITY
	- AMARIA - A		

IV.	contract or deliver and install proposal solely by	er or subcontractor that shall perform all or part of the work of the vindividual owners, partners or members and not by employees to would be required, check the following box, and identify the ership.
	NONE	
and sha listed. Certifica and any applicat	ation provision to be included in all approved sub all make certain that each type of work or craft jo The Department at any time before or after awar ate of Registration issued by the United States D y or all of its subcontractors. In order to fulfill the	a material part of the contract, and the contractor shall require this contracts. The bidder is responsible for making a complete report to category that will be utilized on the project is accounted for and d may require the production of a copy of each applicable epartment of Labor evidencing such participation by the contractor participation requirement, it shall not be necessary that any will take applications for apprenticeship training of employment eliver and install proposal.
Bidder:	BERGER CONTRACTORS, INC.	By: Julie Chamberlin (Stonature)
Address	S: 1205 GARLAND ROAD, WAUCONDA, IL 60084	Title: President
		NOIS ON THE

EXHIBIT A - PUBLIC CONTRACT STATEMENT

This Public Contract Statement (the "Contract Statement") has been executed by the below supplier, Contractor or vendor (collectively the "Contractor") in order for the Village of Buffalo Grove to obtain certain information necessary prior to awarding a public contract. The Contract Statement shall be executed and notarized and submitted as part of the Bid Proposal.

CERTIFICATION OF CONTRACTOR/BIDDER

In order to comply with 720 Illinois Compiled Statutes 5/33 E-1 et seq., the Village of Buffalo Grove requires the following certification be acknowledged:

The Contractor certifies that it is not barred from bidding or supplying any goods, services or construction let by the Village of Buffalo Grove with or without bid, due to any violation of either Section 5/33 E-3 or 5/33 E-4 of Article 33E, Public Contracts, of the Chapter 720 of the Illinois Compiled Statutes, as amended. This act relates to interference with public contracting, bid rigging and rotating, kickbacks, and bidding.

CERTIFICATION RELATIVE TO 65 ILCS 5/11-42.1.1

In order to comply with 65 Illinois Complied Statutes 5/11-42.1.1, the Village of Buffalo Grove requires the following certification:

The Contractor does hereby swear and affirm that it is not delinquent in the payment of any tax administered by the Illinois Department of Revenue unless it is contesting such tax in accordance with the procedures established by the appropriate revenue act, its liability for the tax or the amount of the tax. The undersigned further understands that making a false statement herein: (1) is a Class A misdemeanor, and (2) voids the contract and allows the Village to recover all amounts paid to it under the contract.

CONFLICT OF INTEREST

The Village of Buffalo Grove Municipal Code requires the following verification relative to conflict of interest and compliance with general ethics requirements of the Village:

The Contractor represents and warrants to the Village of Buffalo Grove as a term and condition of acceptance of their Bid Proposal that none of the following Village officials is either an officer or director of Contractor nor owns five percent (5%) or more of the Contractor: the Village President, the members of the Village Board of Trustees, the Village Clerk, the Village Treasurer, the members of the Zoning Board of Appeals and the Plan Commission, the Village Manager and his/her Assistant, or the heads of the various departments within the Village.

business entity or owns five percent (5%) or more thereof:
OTHER COMMITMENTS
Has your firm ever been debarred by a governmental agency in the State of Illinois within the last 7 years? If no, please check the box.
I have read, understand and am able to fulfill the requirements of the contract documents. If yes, please check the box.
I can provide insurance documents that meet the terms of the contract documents, which includes original endorsements that explicitly names
the Village of Buffalo Grove (and others per the contract documents). If yes, please check the box.
In the past 7 years has your thin been involved in litigation, arbitration, or mediation with a governmental agency? If no, please check the box. If yes, please provide a fried description, arbitration, or mediation with a governmental agency? If no, please check the box. If yes, please provide a fried description, arbitration, or mediation with a governmental agency? If no, please check the box. If yes, please provide a fried description, arbitration, or mediation with a governmental agency? If no, please check the box. If yes, please provide a fried description, arbitration, or mediation with a governmental agency? If no, please check the box. If yes, please provide a fried description, arbitration, or mediation with a governmental agency? If no, please check the box. If yes, please provide a fried description, arbitration, or mediation with a governmental agency? If no, please check the box. If yes, please provide a fried description, arbitration, or mediation with a governmental agency? If no, please check the box. If yes, please provide a fried description, arbitration, or mediation with a governmental agency? If no, please check the box. If yes, please provide a fried description, arbitration, or mediation with a governmental agency? If no, please check the box. If yes, please provide a fried description with a governmental agency? If no, please check the box. If yes, please provide a fried description with a governmental agency? If no, please check the box. If yes, please provide a fried description with a governmental agency? If no, please check the box. If yes, please provide a fried description with a governmental agency? If no, please check the box. If yes, please provide a fried description with a governmental agency? If no, please check the box. If yes, please provide a fried description with a governmental agency? If no, please check the box. If yes, please provide a fried description with a governmental agency? If no, please check the box. If yes, please provide a fried description with a governm
Given under my hand and official seal, this to day of the property of the prop

DIANE C SEROWKA NOTARY PUBLIC - STATE OF ILLINOIS MY COMMISSION EXPIRES:04/26/24

Finance Department

Fifty Raupp Blvd. Buffalo Grove, IL 60089-2198 Phone 847-459-2500 Fax 847-459-7906

Bernard Drive Contract 1 Project Addendum #1

contract documents and in case of conflict, the provisions in the following Addendum shall govern. The following changes and clarifications shall be made to the Bid Documents for the Bernard Drive Contract 1 Project. Q1 Are there any soil borings available for the project for the contractors to review? A1 Yes, the soil boring logs and location map for Bernard Drive Contract 1 Project are attache below. CONTROSPECTIVE RESPONDENTS ARE TO ACKNOWLEDGE RECEIPT OF ADDENDUM #1. AND SHALL INCLUDE AND NOTE THIS ADDENDUM IN THE PROPERTY OF RESPONSE. RESPONDENT: Berger (INVIDED THE SHALL INCLUDE AND NOTE THIS ADDENDUM IN THE SHALL INCLUDE AND NOTE		
SUBJECT: ADDENDUM #1 Note: This Addendum is hereby declared a part of the original bid an contract documents and in case of conflict, the provisions in the following Addendum shall govern. The following changes and clarifications shall be made to the Bid Documents for the Bernard Drive Contract 1 Project. Q1. Are there any soil borings available for the project for the contractors to review? A1. Yes, the soil boring logs and location map for Bernard Drive Contract 1 Project are attachbelow. A2. Yes, the soil boring logs and location map for Bernard Drive Contract 1 Project are attachbelow. A3. Yes, the soil boring logs and location map for Bernard Drive Contract 1 Project are attachbelow. A4. Yes, the soil boring logs and location map for Bernard Drive Contract 1 Project are attachbelow. A5. SPECTIVE RESPONDENTS ARE TO ACKNOWLEDGE RECEIPT OF ADDENDUM #1. AND SHALL INCLUDE AND NOTE THIS ADDENDUM INCOMPACT OF ADDENDUM #1. AND SHALL INCLUDE AND NOTE THIS ADDENDUM INCOMPACT OF ADDENDUM #1. AND SHALL INCLUDE AND NOTE THIS ADDENDUM INCOMPACT OF ADDENDUM #1. AND SHALL INCLUDE AND NOTE THIS ADDENDUM INCOMPACT OF ADDENDUM #1. AND SHALL INCLUDE AND NOTE THIS ADDENDUM INCOMPACT OF ADDENDUM #1. AND SHALL INCLUDE AND NOTE THIS ADDENDUM INCOMPACT OF ADDENDUM #1. AND SHALL INCLUDE AND NOTE THIS ADDENDUM INCOMPACT OF ADDENDUM #1. AND SHALL INCLUDE AND NOTE THIS ADDENDUM INCOMPACT OF ADDENDUM #1. AND SHALL INCLUDE AND NOTE THIS ADDENDUM INCOMPACT OF ADDENDUM #1. AND SHALL INCLUDE AND NOTE THIS ADDENDUM INCOMPACT OF ADDENDUM #1. AND SHALL INCLUDE AND NOTE THIS ADDENDUM INCOMPACT OF ADDENDU	TO:	Prospective Respondents and Other Interested Parties
Note: This Addendum is hereby declared a part of the original bid an contract documents and in case of conflict, the provisions in the following Addendum shall govern. The following changes and clarifications shall be made to the Bid Documents for the Bernard Drive Contract 1 Project. Q1. Are there any soil borings available for the project for the contractors to review? A1. Yes, the soil boring logs and location map for Bernard Drive Contract 1 Project are attachebelow. CON BROSPECTIVE RESPONDENTS ARE TO ACKNOWLEDGE RECEIPT OF ADDENDUM #1. AND SHALL INCLUDE AND NOTE THIS ADDENDUM ITS ARE YOUR RESPONSE. RESPONDENT: Beview And Note This Addendum Includes the project of the contract of the project are attachebelow. LINOS RESPONSE. RESPONDENT: Beview And Note This Addendum Its Addend	FROM:	The Village of Buffalo Grove Finance Department
Note: This Addendum is hereby declared a part of the original bid an contract documents and in case of conflict, the provisions in the following Addendum shall govern. The following changes and clarifications shall be made to the Bid Documents for the Bernard Drive Contract 1 Project. Q1. Are there any soil borings available for the project for the contractors to review? A1. Yes, the soil boring logs and location map for Bernard Drive Contract 1 Project are attachebelow. CONTRACTOR RESPONDENTS ARE TO ACKNOWLEDGE RECEIPT OF ADDENDUM #1. AND SHALL INCLUDE AND NOTE THIS ADDENDUM IS ORATE YOUR RESPONSE. RESPONDENT: Berger (Industry) Inc.	ISSUE DATE:	November 3, 2023
contract documents and in case of conflict, the provisions in the following Addendum shall govern. The following changes and clarifications shall be made to the Bid Documents for the Bernard Drive Contract 1 Project. Q1. Are there any soil borings available for the project for the contractors to review? A1. Yes, the soil boring logs and location map for Bernard Drive Contract 1 Project are attache below. CONTROL RESPONDENTS ARE TO ACKNOWLEDGE RECEIPT OF ADDENDUM #1. AND SHALL INCLUDE AND NOTE THIS ADDENDUM IS ORATE YOUR RESPONSE. RESPONDENT: Berger (Industry) Inc.	SUBJECT:	ADDENDUM #1
Bernard Drive Contract 1 Project. Q1 Are there any soil borings available for the project for the contractors to review? A1 Yes, the soil boring logs and location map for Bernard Drive Contract 1 Project are attached below. CONTRACTOR RESPONDENTS ARE TO ACKNOWLEDGE RECEIPT OF ADDENDUM #1. AND SHALL INCLUDE AND NOTE THIS ADDENDUM IS ORATE YOUR RESPONSE. RESPONDENT: Berger (Industry) Inc.	Note:	This Addendum is hereby declared a part of the original bid and contract documents and in case of conflict, the provisions in the following Addendum shall govern.
A1. Yes, the soil boring logs and location map for Bernard Drive Contract 1 Project are attache below. CONTROL PROSPECTIVE RESPONDENTS ARE TO ACKNOWLEDGE RECEIPT OF ADDENDUM #1. AND SHALL INCLUDE AND NOTE THIS ADDENDUM IS PORATE YOUR RESPONSE. RESPONDENT: Berger (Manuface) Inc.	Bernard Drive Con	tract 1 Project.
Delow. CONTROL ROSPECTIVE RESPONDENTS ARE TO ACKNOWLEDGE RECEIPT OF ADDENDUM #1. AND SHALL INCLUDE AND NOTE THIS ADDENDUM IS PORATE YOUR RESPONSE. RESPONDENT: Berger (Industry) Inc.	Q1. Are there any so	oil borings available for the project for the contractors to review?
CONTROSPECTIVE RESPONDENTS ARE TO ACKNOWLEDGE RECEIPT OF ADDENDUM #1. AND SHALL INCLUDE AND NOTE THIS ADDENDUM IS PORATE YOUR RESPONSE. RESPONDENT: Bevger (Industry) Inc.		ng logs and location map for Bernard Drive Contract 1 Project are attache
ADDENDUM #1. AND SHALL INCLUDE AND NOTE THIS ADDENDUM IS PORATE YOUR RESPONSE. RESPONDENT: Berger (Introdors, Inc.) RESPONDENT: Berger (Introdors, Inc.)	NIIIIII	
ADDENDUM #1. AND SHALL INCLUDE AND NOTE THIS ADDENDUM IS PORATE YOUR RESPONSE. RESPONDENT: Berger (Individues, Inc.)	CONTANTO	NUE DECEDONIDENTES ADE TO A CIONOMI DE CE DECEMBRI OF
EAL E RESPONSE. RESPONDENT: Berger (antiquors, Inc.	ADDENDI	M #1. AND SHALL INCLUDE AND NOTE THIS ADDENDUM IN
RESPONDENT: Berger Contractors, Inc.	ORATE YOUR RESI	PONSE.
RESPONDENT: Berger (antractors, Inc.		/
SIGNED: DATE 11/3/23	RESPOND	ENT: Berger Contractors, Inc.
SIGNED: DATE 11/3/23	111018	
	STENED:	
TITLE: Yveident		DATE: 11 3 23

Finance Department

Fifty Raupp Blvd. Buffalo Grove, IL 60089-2198 Phone 847-459-2500 Fax 847-459-7906

Bernard Drive Contract 1 Project Addendum #2

TO:

Prospective Respondents and Other Interested Parties

FROM:

The Village of Buffalo Grove Finance Department

ISSUE DATE:

November 8, 2023

SUBJECT:

ADDENDUM #2

Note:

This Addendum is hereby declared a part of the original bid and contract documents and in case of conflict, the provisions in the

following Addendum shall govern.

The following changes and clarifications shall be made to the Bid Documents for the Bernard Drive Contract 1 Project.

Item #1

The Cook County Division of Transportation and Highways (CCDOTH) will require a bond and insurance for work within County right-of-way. Information is below.

Bond

Please see bond and insurance \$20,000 directions (pages 1-2) on our web site at https://www.cookcountyil.gov/service/construction-permits-online-payment to help the contractor navigate the process.

Insurance

Please see bond and insurance\$20,000 directions (pages 3-5) on our web site at https://www.cookcountyil.gov/service/construction-permits-online-payment to help the contractor navigate the process. Attached is a copy of our sample COI. The contractor must meet the minimums.

The insurance certificate can be emailed to hwy.permits@cookcountyil.gov. Title the email 2023-02614 Insurance.

This work will not be paid for separately but shall be included in the cost of the project.

Item #2

Additional information is being provided regarding the proposed sanitary sewer manhole to be constructed at the intersection of Bernard Drive at Navajo Trail (Sta. 82+28.63, 13.74' Rt). The attached plan sheet (28 of 97) shall replace the plan sheet that was included in the bid plans. The cost of completing the work, as shown on the revised sheet, shall be included in the cost of MANHOLES, SANITARY, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID.

Item #3

The quantity for INLET FILTERS (Item 7) has increased from 43 Each to 45 Each. A new pay item has been added for CATCH BASINS TO BE ADJUSTED (Item 40). The quantity for this work is 2 Each. This additional work is required because the limits of reconstruction on Melinda Lane have been extended north. Attached to this addendum are the following:

Base Bid Schedule of Prices – Replace the original bid schedule of prices, in its entirety, with the attached.

Replace plan sheets 3 and 4 (Summary of Quantities), 10 (Existing Conditions and Removal Items), 14 (Roadway Plan and Profile), 20 (Erosion Control and Landscaping Plan), and 36 (ADA Ramp Details) with the attached plan sheets.

	PROSPECTIVE RESPONDENTS ARE TO ACTUME CONTROLLED AND SHALL INCLUDE A	CKNOWLEDGE RECEIPT OF ND NOTE THIS ADDENDUM
EX.	CORPORATE OF RESPONSE. RESPONDENT: Berger Contractors In	-
11111111111111111111111111111111111111	SEAL SIGNED SIGNED	DATE: 11/8/23
	TITLE: Treadent	

Finance Department Fifty Raupp Blvd. Buffalo Grove, IL 60089-2198 Phone 847-459-2500

Fax 847-459-7906

Bernard Drive Contract 1 Project Addendum #3

TO:

Prospective Respondents and Other Interested Parties

FROM:

The Village of Buffalo Grove Finance Department

ISSUE DATE:

November 10, 2023

SUBJECT:

ADDENDUM #3

Note:

This Addendum is hereby declared a part of the original bid and contract documents and in case of conflict, the provisions in the following

Addendum shall govern.

The following changes and clarifications shall be made to the Bid Documents for the Bernard Drive Contract 1 Project.

Q1. The spec for class D patches (special) 4" & 5" mention both binder and surface but no table is provided in the plans for thicknesses of each. Can you please clarify if surface is required and at what thickness?

A1. 2" surface and balance is binder.

Q2. Will IDOT 60/40 concrete asphalt blended recycled CA-6 be allowed for the subbase and aggregate base course material?

A2. Yes, as long as it's coming from the same source per street.

Q3. Is Recycled CA-11 acceptable for trench backfill and bedding of the pipes other than underdrain?

A3. No

Q4. Is Trench backfill paid for separately for the Watermain and Sanitary main line pipe?

A4. Yes

Q5. Would a Maintenance bond be allowed in lieu of the specified letter of credit that is called out to be posted at the end of the projects?

A5. No

VoBG-2024

PROSPECTIVE RESPONDENTS ARE TO ACKNOWLEDGE RECEIPT OF ADDENDUM #3. AND SHALL INCLUDE AND NOTE THIS ADDENDUM IN CKOUR RESPONSE.

Berger Controlors, I.c.

DATE: 11 10 23

Finance Department
Fifty Raupp Blvd.
Buffalo Grove, IL 60089-2198
Phone 847-459-2500
Fax 847-459-7906

Bernard Drive Contract 1 Project Addendum #4

TO:

Prospective Respondents and Other Interested Parties

FROM:

The Village of Buffalo Grove Finance Department

ISSUE DATE:

November 13, 2023

SUBJECT:

ADDENDUM #4

Note:

This Addendum is hereby declared a part of the original bid and contract

documents and in case of conflict, the provisions in the following

Addendum shall govern.

The following changes and clarifications shall be made to the Bid Documents for the Bernard Drive Contract 1 Project.

Q1. Can you see if for the "adjust water service line item" if they will allow us to splice the water services and reconnect or will they require the contractor to replace the water line all the way to the main. I did not see a spec for this item.

A1. These are all new water services therefore no splices will be permitted. See below Special Provision for 'Adjusting Water Service Lines'.

ADJUSTING WATER SERVICE LINES

Description: This work shall include all labor, material, and equipment necessary to adjust new copper water service lines, regardless of the diameter, in accordance with Section 562 of the Standard Specifications, Section 41 of the Standard Specifications for Water and Sewer Construction in Illinois, applicable Special Provisions in the original contract documents and as specified herein.

Construction Requirements: This item shall be used, when determined by the Engineer, where existing water service lines conflict with the proposed utility improvements. The water service line shall be removed and replaced from the existing tap to the existing buffalo box at an elevation that eliminates the known conflict.

The replacement service line shall be one continuous length (no couplings in the new copper piping will be allowed) and be of sufficient length to allow for some movement for trench settling after placement of the backfill material. The Engineer shall inspect each new water service line prior to backfill operations.

Trench backfill required for excavations to make connections under sidewalks or driveways will be paid for separately.

The Contractor shall refer to the Village of Buffalo Grove Materials List in Appendix A for all material requirements. All work as listed and as shown on the plan and details shall be included with this

pay item. All fittings for copper service lines shall be of the "flare" type regardless of temporary or permanent use.

Method of Measurement: This work will be measured for payment in place in units per foot of water service line installed.

Basis of Payment: This item will be paid for at the contract unit price per foot for ADJUSTING WATER SERVICE LINES.

Q2. On sheet 7 and 8 of the spec book for Buffalo Grove project in the title (storm sewer construction) it states that laterals need to be done with flaggers and 4" of asphalt placed to final surface. My concern is that the main line is shown in the middle of the road and using flaggers would be difficult since there won't be any room for a passing lane also considering the laterals. Will the Village consider a road closure and/or detour for storm sewer install or at least daily road closures?

A2. The main line is approximately 5' south of the centerline of the road. The intent is that the laterals would be completed under traffic with the utilization of a flagger, and steel plates OR during the second phase of the project. No roads or segments shall be closed without prior written approval from the Village and Engineer. If the Contractor determines that a daily lane closure is warranted, they must present a detour plan with a detailed description addressing how resident access will be maintained and all applicable signage in accordance with the Highway Standards. Any additional traffic control devices required for daily lane closures at the Contractor's request shall not be paid for

Tagger, and steel plates of the contractor determines that a daily lane closure is was a detour plan with a detailed description addressing how resident access and all applicable signage in accordance with the Highway Standards. Any addit traffic control devices required for daily lane closures at the Contractor's request shall not be included in the cost of the contract.

FROSPECTIVE RESPONDENTS ARE TO ACKNOWLEDGE RECEIPT OF DEDENDUM #4. AND SHALL INCLUDE AND NOTE THIS ADDENDUM #4. AND SHALL INCLUDE AND NOTE THIS ADDENDUM SEAD SHALL INCLUDE AND NOTE THIS ADDENDUM SEAD SIGNED. DENDUM #4. AND SHALL INCLUDE AND NOTE THIS ADDENDUM IN



Certificate of Eligibility

Berger Excavating Contractors, Inc. 1205 Garland Road Wauconda, IL 60084

Contractor No 0392

WHO HAS FILED WITH THE DEPARTMENT AN APPLICATION FOR PREQUALIFICATION STATEMENT OF EXPERIENCE, EQUIPMENT AND FINANCIAL CONDITION IS HEREBY QUALIFIED TO BID AT ANY OF DEPARTMENT OF TRANSPORTATION LETTINGS IN THE CLASSES OF THE UNCOMPLETED WORK FROM ALL SOURCES DOES NOT EXCEED WORK AND WITHIN THE AMOUNT AND OTHER LIMITATIONS OF EACH CLASSIFICATION, AS LISTED BELOW, FOR SUCH PERIOD AS SUPER UNLIMITED

08A	036	034	032	018	017	014	012	005	001
AGGREGATE BASES & SURF. (A)	TUNNEL EXCAVATION	DEMOLITION	COLD MILL BLAN & BOTOMILL	LANDSCAPING	CONCRETE CONSTRUCTION	ELECTRICAL	DRAINAGE	HMA PAVING	EARTHWORK
\$12,550,000	\$1,675,000	\$175,000	\$2,975,000	\$23,100,000	\$1,600,000	\$35,625,000	#9,900,000 B		626 575 000

CERTIFICATE PREVIOUSLY ISSUED, BUT IS SUBJECT TO REVISION OR REVOCATION, IF AND WHEN CHANGES IN ISSUED AT SPRINGFIELD, ILLINOIS ON 3/9/2023. THE FINANCIAL CONDITION OF THE CONTRACTING FIRM OR OTHER FACTS JUSTIFY SUCH REVISIONS OR REVOCATION. THIS CERTIFICATE OF ELIGIBILITY IS VALID FROM d INCLUSIVE, AND SUPERSEDES ANY

Restricted to 1200 tons in any 1 contract (Class I and/or BAM) or as specified by local agency

